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DO NOT OPEN THE SEAL UN'I‘IL INSTRUCTED TO DO S0, .o Q Booklet

Candldate SRollNumber . S an Code 4P

Emmsﬁ' e e S Ney 1247@
NMMS FEBRUARY 2021
MENTAL ABILITY AND

', 'SCHOLASTIC APTITUDE TEST RVTERE
Time Part I: 90 Minutes . . : - Max1mum Marks 90--

Tune Part - II : 90 Minutes ; W : Maxunum Marks : 90

Tnstructions to the Candidates : :
Read the following instructions carefully before you .answer the questions. Answers‘
are to be SHADED on a SEPARATE OMR Answer Sheet given, with g Blue or Black -
Ballpoint Pen only. Read the Instructions printed on. th.e OMR Sheet carefully,
before answering the questions...

1, Please. write your Center Code No. and Roll No. very clearly (only. one dlglt in one

.block) on the OMR Sheet as given in your admission card. Please see that no block: '
is. left unfilled and even Zeros appearing in the, Center Code No. are correctly
transferled to the appropriate blocks on the OMR Sheet as shown in the example

given in the OMR Sheét. For all subsequent purposes, your C‘enter Code No. and ...~

Roll No. shall remain the same as given onh the Admission Card.
2. The Testisin TWO Parts. Part-I conmsts of 90 questions and Part-II also con51sts
of 90 questions. ; ;

All questions in Part-I and Part-IT carry one mark each

3
-4, Since-all questions are cgmpulsory, do not try to read through the Whole quesf,mn

paper before beginning to answer it.

2 " Begin with the first question and keep t1y1ng one questlon after another 1;111 you

finish béth the Parts. ,
6. If you do mot know the answer to any . questmn, do not spend much t1me on 1t and

pass on to the hext one. If time permits, you can come back to the questmns whmh

. you have left out in the first instance and try them .again.
7. Since the time allotted to the two parts of this question paper is very 11m1ted you
should make the best use of it by not spendmg too much time on any guestion.
A blank page is prowded for rough_ Work at the end of each part.
Remember, you have to shade aviswers on a separate OMR sheet prov1ded

-10, Answer to each questlon is to be indicated by SHADING the circle having

_the. number of the correct alternative in the OMR Sheet from among. the -
. ones given for the corresponding question in the booklét.
11, Now.turn to the next.page and start answermg the questions.

12, After the examination, you ehould hand over thé OMR Sheet to the Invigilator of _

. the room.

* 18. The candldate need not return this Question Paper Booklet and can take it

-after the completmn of the examination. No candldate should Ieave the
examlnatmn hall before the end of the’ exammatmn

RS=11 - . - M. . [TamOved



At £ £
‘.
5 PRI SN
: [
: .
. .
.
.
o AL L L.,
e e o
i‘ ‘
g 3
. i
- ’ .
3 . p 7% Mg
.
¢
o s . B
o el ol
ES-11 '

s FL
+
.
s
- -
. fa
- P R
.
*

L T VAU

.
i E' s iy '-‘,ﬂ o
. H Lede
- 't'l
. I
|
Y ;
P ST
hadhe L P PETOY TS PR UL
. ' s
« e
-, 5 . ‘
(R S Lo
+ w -
- . (N
) .
'
I3 T 1
: ; ) et
S N ey ¥
L . -t
e d T '
: &
oo
) i . (]
o e b e e )
i -
.
. N
’ :
- g
L] f " i
C i
L %P
P, T R LB A s oae o L
. e i
- o .
= . i
. el
1 . ‘\ '
‘ 1 2 -
. T &
o PR
[
P &
<
. PR |
) .
FRPST—
.
.
. "
. N e
. = B
. ; ’ LI
o 3 g
.. 2 N
. .
. -
= L

: .
i

.
e




s & Part I MENTAL ABILITY TEST
Time : 90 Mmutes I '_ - L - Max. Marks 90

‘Note: SHADE the correct alternatlves in the OMR Answer Sheet prov1ded from
amongst the ones given against the corresponding questions in the Question
Paper Booklet. For shading the circles, use a Blue or Black Ballpmnt Pen

Dlrectlon Questlons (1to 10):
In each of the following quéstions, a set of flgures carrying certain characters given _
Assummg that the characters in each set fellcw a smular pattern, find the m1ss111g )

character in each case.

_(1)'2 R | (2)6 | '_ (3)8 (4)64'

N anVanYan

_‘-(1_) 125 - (@215 L {3) 551 ,' (4) 512.

_'(_1)-“1'32. | @i @ 320 -

I [7]: 1
4. I16~ 52| [Talwols] [4]2[s] - .
4 4 ‘._ '- 5 6 Ly b ? o B . . . - R \."'

: 1 ; (2')_2- ) '__(3)'6 "._ @ 10 ,:'

5 12N JaN . /¢

w2 . @n . @ @3

KS-11 : PR @ [Tarn Over]
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~ Direction : Questions (11 t6 20) ; - " ‘ L :
~ Thefollowing questions are based on simple arithmetic calculations. There ave four
" alternatives given under each quesﬁion?Aﬁter'idez;tifying”the'right answer; indicate
" it as per instructions. . . .- . A CHET S TS
11, 88888+ 8+ 88 + 8888 + 888 =7 - L
o () 9876 | . (2) 98760... - . (3)' 98766 ... " (4) 98666 - .

[
LR 4
[

12. 992+0.4x05=2 . . . - - R
(1) 1204 . (2?1200 .. . (3 1202 ... (&) 1240 “wos

Bl .

-

7 S

—_——— =



13,

NMMS (E)
_(2°+39)x4°=v
®2 T @8

() -(4s) -,

@d @6

(1) 0.0000104-, - (2)°0.000104

14.. . _
| VI N @4 @9 - @
~15.° 0.0183 % 0.0008 = ? - - :

-.(4)3—1-(6)’2"; .
- 2b :

16,

wse . ®e

(3) 0.00104

. (4 0.0104

@ - ws

18,

_ Direction : Questlons (21to0 30) ;'
- In each of the following questions, there is a certain relahonshlp between two given

17. 13194+ 31.456—16.451=2 - I ey
N (1) 28.19 '(2) 2-8.19997 - (328191 (4) 28.199
s L | e S
If =7.
256, x - then.x = i e o+ ol g
.(1).4 I j (z) 5 (@ 20 @25.
19, *549.991— ? = 120,992 L oo
(M) .419.-999 (2) 491.999 - - (3) 419.991 (4) 419.919,
20. (?)3-_;2_7=27_ | | T
w9 @8 ' (_3)' 7_2_9 @38

. words on oneé side of : : and one word is given on the another side of : 3, while another
word isto be found from the glven 4 alternatives, having the same relation ‘with thlS '
s Word as the Words of the glven palr Choose the correct alternatlves '

-'21.

Clock Time : Thermometer "
(1) Heat :
(3) Radiation

(4) Temperature- :

22,

B

Musluns Mosque: :
)] Temple:
3) Chureh o,

 Christians:? .~ . . .
L . . Gurudwara
"4 Golde'n temple

.28/

Seeds : P.lents +
* (1) Roots

Bﬁds ~ 2

@) Leaves -~ .- (3) Stem

. (4) Flowers

KS-11

. [Turn Over] *
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24, Court:'Justice_:E School : ? , R '_ L i, _
B 1)) Teache;' @ -‘,Stpde_nt. ~ (3) Head Master (4)' Etl;ﬁié'e_{tioh
. 25, 'Pati'ent:Dcctor:':'Studem 3 I LT SRR

() School - (9) Book . ... (3) Teacher . (4 Clak.

S 26. Gm'deﬁ.:Gai'deliér;:Temple"z?. L e g
" (1) Priest® . (2) God -~ (8):Devotee” | . @ Pr
27.‘..Cricket:Bat-::Hockey: z N C o R :
. .U Fiela (2) Hockey stick (3) Player” -
- 28, Dog:Rabies::Mosquito:_‘? . o " e
' - (1) Plague . 2 Q'holera . @ Cough- (g Malaria

29. Ship:Sea:: Camel: 7 - Lo e T "
(1) Forest - - - (g Mountain ., (8) Desert

-

obhet

b T

-—

@B

@) Town

' o B _ i T T § _
- 30, Country : President : : State : ? ,J L . L
() Governor - (2) Ministey " (3) Chief Minister (4) Citizen.
'Direqtioh:Questions (31to40): - . P T _
. Ineach of the following questions; select a figive ﬁ'é_)'ﬁiamongst'thg:fpur alternatives,
+ ‘which when placed in the blank space(?) ofﬁ'glige:(-;{) would complete the pattern. .

=44 W@ @) @
L (1)'.'1_ @2 ®s o .'(4)‘ 4:;.' -

8L

A I ; st

| 0 e e cw

l(1) 1. @ e @3

sty

' '(4‘).'4..'.-"' |

JBNN

W1 @2 @8

Y

CES-11 o g



34,

'(1)‘, .

@2 @s

@

@ 4

" 35.

.

YRR Th

@4

36.

-% . :\

a ,.(2.)  (3) -_‘_.(4) o g’

37.

@1

e

. 3 - IR

@ @ @

@i

(@4

38. I

o 0 e 0w
@1

- 89,

W

@2 T @s

(2) 2 _ G 3

@ @ @

¢ (4)4 :.:

< - -

@

E "'40;

Lo

SR '(3j: '|A'(4)

@ 2 @8

@4
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- [Turn Over]



. NMMS ®) o A Y=Y

' Direction : Questions (41 to 50) : L T . :

. In each question, out of the four figures marked (1), (2), (8) and (4), three are similar
in a certain manner. However, one figure is'not like the other three.- Chd?sfe the -
figure which is different from therest, TR o 7y e

TS

L
W1

2

. @ @

©® i;.-

@) 4

" I A NV

I

@ @,

@

_ .(1)‘ -

@2 -

43.

D@ ®

@
@2

@ 4

W1

=

44 | %E%§£,

@

@ @

:'.(@'4ﬂ“15~“

] g

@ T

@3

3 ”035‘53 |

(2) 2 | PP J ...... -

o5

@

| ¥4¢3. | ,; ' °f§§§§§;;7

@

@ @
@ .2

@ 4

- 5

_KS~11
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'-‘(5}3'_ _-'(4)4_“

: (3)3 . .'(4)'2'1t'

@3 @4

M1 . @2

3 . E e - X
i % '
2 . b 2
«
§ ‘u .‘:". R ‘ h
. ] LN . : :
L. Fy . A O ¥
LA T I S S 4 B h .
/ ) -
.90, ¢ ) :
*

o o e e

Lo @8 @w

. Dlrectmn Questlons (51 to 60)

Select the alternative which repr esents three out of the ﬁve alternatwe ﬁgures Whlch |
‘When ﬁtted mto each other would form a complete square.

W @ ® @ ©

VNI

(1)1,4,5 () 2,3,4

® @ ® @ 6.

(3 1,8,4 -

4 2,3,5

(1) 1,3,4 @ 1,24

H @ ® @ ®

3 2,3,4 . @-3,4;5

@285

®L24 . @234

"KS-11 .
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54,

|

N

@

G @

o [B]
' T '.i’i‘;." e
b '
P 5 r

a1 es
2wyl

21,34

SIS

'55.

EN

A

@) 2
(1) 1,4,5

& @ ®
2 2,4,5

=

@3 13,5

P B

o

56. |

N

=

(1) {2
(11,23

_ (®.1,2,4 -

N7

O @ ®
@ 3,4,5

_ @234

S

N

RO

@ @G

: (3) 245

Y

@ 2,34

M L24

@) 2,3,5.

4

58,

K

N[ v

@) @

® @) (®)

) 1,8,4

@ 2,45

L 0)1,8,4 -

©) 3,45

1]

. 89,

A' ,

ST

3
@ ®

1°1,3,4

@ & . ®
@ 1,2,3

31, 4,5

@255

@ 2,84

]«

=

N

60.
RO
() 1,2,8

B &

@ 1,3,4

-t

3. 1,2, 5

.
»

@ 3,4,5




Cns®. L T - |
Direction : Questions (61 to 70) ' <ot o

In each of the following questions, the second. f1gure in the ﬁrst uinit of the problem
' figure bears a certain relationship to the first figure. Similarly one of the answer
figure bears the same relationship to the first figure of the second unit of problem .
- figuresiyou have to therefore locate the flgure which would fit the questlon mark

61, Picblem Flgure

AC! -V Qﬁ

® @ O —m

- Answer FlglII'e

Bl [TA [T [ |[TA
- AL gl k] o
. e - @ @

Lo e
62. Problém Figure o .
LW AQ e

omr . ©®2

- Dy (‘ )

@3 - @4
Answer Flgure -

e e e @
@3 . . @4

" 63. _ Problem Figure -

VR B (VN )
®1 @2

' Aﬁsﬁvér Figure

h HD /[\O 9 . f

| - 64 Prob_len:_l Figure -

T~

@ ® © o

N G ?

" e Answer Figure .

I T © T 7

@3 @4

w1 @2

65. Problem Figure

7] (=] [~

w. ® O
O @2

(D)

_ Answer Flgure

o, e ® @,

" 66, _‘Problem Figure

ey B O D,

w1 @2

HOR R ¢ S
- ‘Ansvrer Figie © .

® @ ® - @
@3 . @we

CKS-11

] .[':.[‘lil‘_l.l_ Over]
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.67. Problem Figure .= - -

I ED
C® T ® oo
@1 @2

An_swer-l*j‘igure' .

N

@ ' l_. . .
@ @
@4

X

%

@

(3 3 -

68. Problem Figure

EWVi<E
N N R
M1 @2

- Answer Figure

"

3 3

VI

@ @ @

: .;(I) ’

. 89. l?robléiﬁ :Figure

e ® O
(D)1

. A:n_:_s,wer Figure -

Py - . .
3 B
& o

AN

' “70; Problem Figure

@ O ®
M1

'_(3)3

@8

Ané*:ver: Figure

IR NS
@ Te Te @
@) 4

-Direction : Questions (71 to 80) :

~ Inthe number series given below, one numbet js missing. Each series is followed by

- fouy élterna‘tivé_s @),
. instructions. ' ,
© 7L 6,11,21,36,66,7

(D42 @ 51

(@), (3), (4)..0ne of them is the right answer. Indicate it as pers _

22,24,28,7,59, 84

| "_%2'. _
()36 ‘@) 38

@l v (gl -

@

0,2,8,14,?,34 .

() 20

@3

L @2

@

.74, +1,5,18, 25,41, ?-.

(1) 51 @ 57

C@er .

4,6,12,14,28,30,?

@ 63

LR

75. . . : S '
M1 @) 60 @62 . . (464

KS-117 .

o
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76,

133679,?,1221

((1) 10°

(2) 11-' -

@ 13 |

77,

2591937‘?

@73

‘ '(2)-' 75

'(3} 12 |

' -'(3) 76

@ 78"

78,

06, 24, 60,120,210,7 - -
(1) 240

- 79,

(1 26

(2) 290

11,18, 17, 19, 23, 25, ?

@ 336"

C @29

0 504, -

" 80.

4,7,12,19,28,7

(1) 30

@21

]

). 'es

'(3) : 35

@3

@49

Direction : Questions (81 to 90) : : ‘
In these questmns there are‘equatlons that have became wrong due to 1ncorrect :
-order of 51gns From the four alternanves (1), (@), (3), (4) given below, find the coirect
, order of signs; so that the equafions become correct '

. 81.

300—30 X 16=150"
- (1) X','—:-',°:' P

@ =,x,=

@ =—>< _

' 89,

95 +15=5+75 .
@ =+

83,

56+8—16=3

) %=

@ ==X

@. =%, +

84."

210=15+7X98
D)+, %=

@ _"7?.=’:l__x -

(2j " _;_’:='-.-.

L@ =4, %

(3) =; X: -~

@ %,

(4) _===X

. 85.

65+7=63%5
- ‘(1)»=;'+3"-" )

@ -, +,' x.

) 5 (é).-!"_, A

(4) +3 x§‘=

86.

40+8x3=2.

@) =+, +

| 87,

105=35-5+98
D =

(2)7—+ a

.@--—'

L PR

‘(3)><-+3 _

@) =

) + x,=

@ —,=

88.

25-10=2+ 33

(D=

| R (.2).'!;:_:=

W

89,

56— 4+12=8

(1) +§ R, =

@ %,=,+

L @=xr

.

90..
p— '(1)_+7+:L: w6

676 —26 = 4 + 30

(4) +: '.=’ T

KS -11

&+ =

. .ué] o

@ =t

" [Turn Over] -
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Part II SCHOLASTIC APTI’]I‘UDE TEST

-Tlme 90 Mmutes . ‘ . o S Max Marks 90 -
. .Nt;t'e : _ ‘ o 3 |
© ) Subjeot, Question No. and Marks allotted | o
| S1. No. -Subject. e T | -QueétionNo. : o Maxks ‘
(D ~ Physics. ‘ . 91to ',102 q-u:estions | 12 Mark’s .
2 Cliemistry . 103 to 113 questioné ‘11Marks

(3) " Biolog‘y o 1_14'1:-0 12'55‘911_;est_ions. - ;ZMarks
@ - Mafhemdﬁcs - 126 £5 145 q-l‘lestions. - 20 Marks '
(5) -_ History . LA 146 tt;-1.5l5 qﬁeétions . '10 Méxjks
| .'(é;) .' Gedgraphy | 156 t_(-) 16§ -qu'eét_;l(;ns ‘_IOMarks
(7) . P_olitic:ﬂSciencé - 166to 175‘q_ue_stioné ..--'1:0 M_arks.

o (8  Economics' . 176 to 180 que'stions‘ . 0B Mafks

; 1) ' SHADE the correct alternatlves inthe OMR Answer Sheet: prowded from_ ;

‘ amongst the ones given against thé corresponding questions. in the

" .Question Paper Booklet. For shading the circles, use a Blue or Blac]_&'
Bal_lpdint Pen. o ' "

msem. o o T Memom




R, Rmmug

91, CarA Travelled a distance of, 150 m in 10 sec. I I
Car B: Travelled a distance of 180 m in-80 sec.
- Then the ratio of speeds of car A toBis....... -

L sz @ 5:3 - _.'(3)'2;5v'... @35
.92, A: Mirrors used by dentist - B : Torches '

C: Head lights of motor vehicles - . D:Rear view rnlrrors '
In the dbove situations where we use concave mirror? |

_@abc '@BDC _®@ABC .  (@EDA

9. . Lightray = N. .

///////////////////////f//

. The anglebetween1nc1dent1ay andthereﬂectedrayls I _
(1) go® (2) N° . @e® i

. \ -
' 94, Match the followmg eat .
Free body dlagram I Magnitide of resultant force -

. 8N . o @ g ‘ :
i g NG -

| (&

N ¢ — -.Vi'Nl :
— a . -
: y : E LS YRy e
S B~ SR DU

W S R g N

(M i-8 i-R - Qiv—P ' (3 i~8,ii-Qiii~P,iv-R
(3) 1—Su Q,111 RlV P_‘ R ‘,.(é_L)'i—R,ii—S,iji—"Q,'iv—P'

= trnfen a e e e e et - e e s 5

¥




95,

Wlnoh of the followmg is N OT a fleld force‘?

) Magnetlc force o L (2) Electrostatlc force

96.

k) Normal force = e ‘ (4) Gravitationalforce °

——"-—>A

1 ;

)

- In the above dlagram frlctlon is represented BY eoverrens :

WD @B @0 ~’”@Af

. 97,

P Concave m1rror forms virtual and real 1mages

Q: Convex mlrror forms only real rmages

"R Image in a plane mirror is laterally mverted

) Choose the CORRECT statements. , )
(DPa ;I_ @PR,’, (ePQ .Y @QR

- 98,

‘ Assertlon (A) We feel sweaty in some coastal reglons in hot summer days

Reason ®) . If the humldrty is hlgh we feel sweaty.
Choose the CORRECT statement L

(1) Both A, R are true and R is the correct explanatlon of B

. (2) Both A, R are true but R is not the correct explanatron of A

- {(3) Alstrue and R is false

' (4) Both AandR ale false

; s KS'-I]_ RS i . | S .‘[Trlrn__Over.]-




NMMS (B

99. Match the following

i g ~ P. . Switchoff | -

il —-’\/‘— Q- Batte‘rj A

m. - _ /"‘ n___ ) R Bulb-_off' -

iV._I _‘._.Q '2__ o , S. FU.SB >
Mi-Pi-Qii-8,ivR - (9 ip, ii-Q) iR, i'vss‘
(3 1-Q, 11—S 111—-P 1V--R ¥ _' o (4) 1-—P i R 111-S wv-Q°

- '100. Identlfy the CORRECT statements of the followmg
P : Heat is a form of energy. ' ,
‘Q: Bromine is used in thermometer asa 11qu1d
" R: Thermometer is used to measure the temperature of obj ects.
. S The normal temperature of human body 1§ 3500 ;
®es, - @Prq . @R . '.‘(4)PR

’- _ 101 Assertron A): Alcohol is used as one of the 11qu1d to measure temperature 111_
thermometers . o o ' _ _ ‘
.- Reason'(R) : Its expansmn per degree ce1s1us rise in, temperature is very low

Then choose the CORRECT among the.followmg ‘ T

(1) Both A and R are true and R is the correct explanatlon of A
(2) Both A and R are true but R ; is not the correot explanatmn of A
(3) Adis true and Ris false. '

- {d Aisfalse and Ris true.’

102 "Which ene of the folln wing is NOT an osolllatory motlon"
(D Splnnmg of top - o
(_2). Motion of _mbratlng string in guitar -
- (3) To and fro mot?ion of 4 Swing
(49 Motion of ringing oé]l._ Loy




5 P oa CHEMISTRY -
 103: Match the following | CoTe

|, Besin | CGode number " |
[veve.: | pe

| wee | @6
'ﬁi)Hb?E R3O *
. vy PS _' S)'-"'4II :

1) i-P,ii—Qiii-S,iv-R (2)'i'—R ii ~ 8, iii P, iv'--Q;.-
3 i‘-LQ,-lii-_P iii—R, iv-s L (4) i~R,ii~P, -8, 1v-—'Q,

104. Whlch of the followmg elements are hlghly malleable""

.

- A: Carbon . B: S]lver . G._Sg_lpht_;; D Gold
mABi* " @BD .. . @®BC @CD

T

' ;105. P,--: The synthet'icl ﬁbre 'use,d»iﬁ sw'eaii‘efs ‘is acrjliei |
Q Acryhc is generally ealled "Fake fur" o

(1) Both P and Q are corrvect . _‘ _' ; (2) Both P and Q are W].OIlg '

(3) Pi is correet and Qi 1s Wrong - 4 Piswrong and Q is correct”

106 Whmh metal is used in Galvamza’aon process‘?

(1) ch e ‘..(2)‘Cepp_er (3) Sllver A'(4)..‘(:‘r:ol_g_:1.--

107. Fmd the od.d one

(1) Iron . (2) GOld (3) Carb0n : “('4) ~S§1vé1--.-‘—-—

108. The substance used to prevent brownmg W]:ule cuttmg vegetables mto p1eces

(1) Sulphurlc ac1d - ' | .-‘;(2) ‘Hy_d;'och'leric acid - '
(3) N1tr1c e.(:ld _ R _Asberbi'c'aeid L '

e 3 ez

o B
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109, Matehthefollowmg R AT

' i § | ZThame . = ' by
ColizmnA . S el Column B .
= LY MR T L $ i oz
T .___‘" — *wJ‘I- — P%

| D Preparation of Picides i _.;:E) Oxalic aeld
11) - Cool drinks o | R 'Q) Sulphurlc a01d P
| i) Battéries- . - W _-‘R) Carbomc amd

iv) . Rermoval of :'rnk stains - . ) S) Acetlc a01d

@) i-8,i-Q, 'i:ii-P‘iv'R, o (2)1~Su R, iii le—A'
-(3)1 Su P111 Rva - (4)1—P11 R111 SIV-—Q

110. P Merculyls mefal. e

R ] L] *

Tor
Q Mercury is sonorous

' (1) Both Pand Q are correct , " (2) Both P and Q are wrong o

(3) Pis c01rect and Q 1is Wrong _ (4) Pis Wrong and Q is correct :

‘111 Convert the temperature 273“(3‘ in Kelvm scale o ‘ - :
Wox .. (2) B46K (3) 00K _ @ 218K

e
T

112. The acid mgeeted in our body durlng ant blte is .,,g:.J...._leé;‘_ L y

@) Acetlc ac1d (2) Formm acxd (3) Tart:arlc ac1d (4.) Sterlc acld

j_ -.: ";‘1.:.‘3- “. s

118 A : S_ugar "~ B: Washmg soda e
C:Bakingsoda _ D - Starch B
,_Wh:lch of the above are N OT salts‘?

(1)AC o (2)30

]
L ’ WO i
s e = s ar

CESLa el Tegmo




e moweey - .
114.. '

Identlfy the CORRE CT statements pertalnlng to the above shown orgamsms 2

(A) They can be seen th:rough orchnary mleroscopes- o

(B) They behave like non—hvmg things When they aye outs1de a 11v1ng cell

-(€) They cause d1seases 11ke{AIDS : o s .

® @Wamd® " sy L o
L@ @Wmi© L e T
L@ ®emd(© L

(4) (4), (B)and(C) LT oe T e,

115. Whlch of the followmg statements 1s CORRECT‘? _
- (1) Seeds ofOrcInds areheawer. S, B
"o (2) Seeds of Dandehon thsperse through Water _ |
."(3) Seeds of Dolichos (Beans) disperse. through the deh1scence of fru1ts.
' (4) There isno relatmn between the we1ght of the seeds and theu' dlspersal

'liﬁ.- Soil with_ large particles is ..'..‘.._(A)...... and w:lth small partmles is ......(B)
) @ Clay, By Send. - T TR 4) Clay, (B) Loam
(® @Loam,B)Sand '~ (& (A)Sand,(®) Clay

The type of reproduction that oceurs in thls orgamsm -

(1) Sexual reproduetlon A (2) Asexual reproductlon R

(3) Vegetatlve propagatlon by leaves - @ Vegetattye propagation by stem

*

Ks-11 . - [211 R



118 Statement (A) ) Gartllagenous boxies are present in the voice box of’ - o
P humans o e R S oagn -
Staternent (B) A protruding; swo____l_l:c;;%‘_olut g;owth.scc@ at the‘tll_]ro_qt(pcgton is.

thy_ro1d cartllage. S e

() Only ®)iscorrect. .. - (2) Both (&) dnd (B) are Wrong.l;_
(3) Both_(A) and (B)_' are coi”rect. o (4) Only (B) is correct

119, Whlch of the followmg dlseases cah bé preVented by Vaccmes" o )
A) Switiéflu ~ B Dlphtherla o Hepatitis | D) Malaria
(D'A)yandB) el e C i Ao
@ BlandQ)

(3 4),Bjand ) -

-.
-
e

- ¥ LI &
e Ul e

(@ Alloftheso: "

: _'-1:20. Matchthcfollowmg N e o ;
'1) Motor .vehicles - RIEEE P) -:__L,Sulphur d10x1de

11) Aerosols '- ‘ - 'I-_ o Q) .- Carbon monoxlde |

1i1) Power Generatmg Centers S B')---Chlorme _

“|iv) Tndustries Ot g, e, .-.S)-‘-':'_Chloroﬂuorocarbol_:}s_

@ i.—-_ Q ii—R,iii—8, iV—-P ' «:“.‘t’irq:*.:'? (2)1-Q i]'.--—-,S‘iii‘—"-P 'iV-:-R
@ iz_’R,ii'_s,ﬁi:Q iv—P'gi',._, s --_(4) i~P,ii - Q ifi - R, jv.— S

<.

121;_ Observe the g1ve11 dlagram and 1d.ent1fy the part arlsmg fr'om each ovary

'_(1) Uterus -~ - DL .(2')"Fa1-1"01'3.i"¢1—1‘1i=t1ibés:7 |
@B - Semingl tubyles . .,




- 122, Asserﬁon(A)'Drones die aftermatiﬁgv' L '

Reason R): Abdomen bursts at the time of reproductlon

' (1) ®)i is not the correct explanatmn for (A)

(2) (R) 1s the correct explanatlon for (A)

6] (A) is not correct

' (4) (R) is not eorrect.. ;

" 123.

Crops that can be cultwated durmg ramy season between the months of

Juneand...._....(l) ........ YL ) N cr0ps andbetween ..... ..:.(3)..':...7.‘1:0
March durmg wmter season are......... (4) ........ -

: (1) (1) November (2) Khanf (3) November, (4) Rabl '
2) (1) October, (2) Rabl, (3). October (4) Kharlf
- (3) (1) October, (2) Kharlf (3) October (4) Rab1

(4) (1) November (2) Rabl, ,(3) November (4) Kharlf

124,

Identlfy the CORRE CT order of the stages of maklng of woolen clothes

N D Shearmg, Sortmg, Cardmg, Scourmg

3 (2) Sortmg, Shearmg, Scourmg, Cardmg :

(3) Shearmg, Scourmg, Sortmg, Cardmg E o, ‘

' ‘_ 4 Sortmg, Scourmg, Cardmg, Shearmg

'; 125.

Itis observed tbat the lajzers in the soil are arranged as

. 05A—-E»B:5C —B horizons. _Ic_lep_t_i_fy the ‘oomponeﬁts of. horizori 'Cl.

D Hﬁmus s s

iy & i %
S 1 RN

(2) Mmeral Salts, Humus

: (3) Less amount of Humus o

(#) Sand sl Clay.

KS
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MATHEMATICS e
126 Assertmn (A) If the'd angles of a quadrﬂateral are . . R
' (x+10) (x+20) (x+30) then the value of x = 750 o “{' o

- Reason (R) : Sum of the four angles of a quadrllateral is 1800 '

= - Now choose the CORRECT answer. ' o o
(1) Both (4) and (R) are true and (®) supports @ e
(2) Both (A).and (R) are true but ® doesn't support @. | :
3 (A) is true but R)is false. -~
(4) (A) is false but (R) is true

127 AABC and ABPE are tWO equllateral tnangles such that P E’ are the mid.-
- pomts of AB BC respectlvely Then the ratlo of the areas of ABPE and AABC

' 1s -_ o “ STl .rf-.-' SRS e .
D12 (2)J_z - (3)34 ERCET
128 In a rectangle RSTU the dlagonals 1ntersect at 'O' and'“OR‘—_- 5x'+i_ .and-
' OU =2x+4, thenthevalueofx— ....... e ' ' o
w1 @8 @i @a
129 Match the following: . '
1) FEach angleof arectang1e1s ..... ol ) . : ', 'P) . equal
n) _Opposite angles of a parallelogram ise Q)360° N
m) Sum ofanglesmaquadrllateral : e R o= e R) 100 .-
) 1v) The 51de of a square is 25 cm then its perlmeter 1s...-._.-...-en1 - «S)r;' 9()_9
. ) i—P,i.i—R,iii.—,S,iv—-'Q" RS . (2) 1—Q,11—S i — R e
(3) i—R,ii—Q,ﬁi—P iv‘—s . @ i-8,fi-P - Qw R

130 Flnd the measures of o and 'b' respectwely from the glven flgure

(1) 300 1100
(2) 1100,, 500"
(3) 409, 150°

(4 1500, 110°

T KS-11
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.181. Which one of the followmg Wﬂl d1v1de (3125 + 3126 + 3127 S 3128) completely‘?

o @, @25 30 -
‘ 132 Whlch is greater among the fellowmg'? |
. . - E . 2
-‘ G 9 . T on T . " - 2
(1) 2222 : (2) 2222 - ﬁ'*'r-f:e(s) 222 (4) [(2 )]
133. If a, b c are three natural numbers, then the number abcabc is always
lelSlbleby .......... S o L L )
w7 @i R @y A]lofthese'
184, If = (= 501)+502+(-—503)+(504)+..£ ...... (30terms) and |
y= (2010) (—2011)+(2012) (~2018)+ s (20terms) then %+ Y v
60 @15 . '(3) 0 @s
| 135 If x—-( 1)2020 and Y= (+1) 021, and K+ y 2, then :-
'(x+y+z_).(x+y)«(z)-[ :?],;?-. o
@ 15 5 - ®@a ('3)'16‘7-, . @ 1i- Ty
: 136 Iftheunlts d1g1t1n(549)x56x(28*) (684) be '8' thenwhat d1g1tw111be o
therelnplaceof'*"7 L _ﬂ" eliF " ' L |
(1)4 (2)3*,'" (3)2 AT (4)1
137 If %=0.7 and y 023 then the rational number between (:x:+ y) and '
(x_—-'),’)-,ls """"" | F o P |
..‘_ ...l.A 4: " ...‘.‘. -' 5 ¢ R 53 . L K . ) 12 .
) = B b = . L@ =
‘-()_11 . B, - @ 1 @), 05 ()..11'
: 138. Forwhatvalues of n n 2,06 1saperfect square?;' | P
(1) '93,10,5,2 - (2 25,12,4,3 28, 14 6,7 (& 25,11, 8,6
KS-110 . sl ... .. [TunOver]
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189, If -

i T

34—

1+l
S

=%, then thevalue ofxis......... L

W7~ - @7 @7 @7

- 140. If 15; 224;— =g 9 and x=mxn, Where m, n are consecutlve whole numbers

Athenthevalueof (n+1)m+1 _

we o 42-" (3) 4w
ML L 125x10k =0.001175, thenthevalueofkls.....L.: ..... -
w4 -'@e ”:,@ﬂ-f @4

_ 142 The mean of 25 observatmns is 18; Among these the mean of first 12 observatmns
“is 14 and the last 12 observatlons is 17, then what is the. 13th observatlon'?

) 67 | @ e 1e) 78 (4) 31 -

143. 30 men can complete a. work in 18 days by Workmg 7 hours a day How many :
‘men are requlred to complete the same work i in 30 days by Workmg 6 hours |
perday'-’ ; _ L . n% ' .
(1) 15" L (2) 21 . '(3), 22 . - (@25

0 02247x0 384 40 02247><0 616
1 0.07x1.683-0.07x0. 583

@ 0'321 | (2) 821 (3) 3.21 ;_ | (4) 00821

144,

'_ 145. Which of the followmg data has same value for ; mean med1an and' mode‘? .
(1) 4,4,4,4, 8. © 2,6,6,86, 10 . _(3) 2, 2,4,10,12 . (4). 2, 22 4,10

-

i)
Ea

B -
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: . HISTORY. S
146 Who among the followmg granted Robert Clive the rlght to rule Bengal'? ,

(1) Shah:Alam e B : (2) Anwaruddin Khsn -
__-(3) Bahadur Shah Zafar L (4) Muzaffar Jung

147.. Who among the followmg subdued the Palegars m Rayalaseema'? S
' L Cornwalhs (2) Thomas Munro {3) Robert Clive, (ﬁ_l), Dalho_us'ie ‘

148. The famous slogan ‘Swaraj is my birth right' was glven by N RR— _
(1) Subhash Chandra Bose < - (2). Dadabhai Naoron ~
(3) Bal Gangadhar Tilak =~ . . {49 Gandhiji . '

- 149, In which of the followmg sessmns, Congress deoiared that the attalnrnent of

¢ 'Purna Swaraj’ was its goal? o : -

.. (1) Lahore Session I (2) Nagpur Session
(3) Madras Session R (4) Pune Sessmn D

150, “Which of the followmg statements isfare CORREGT? , - “y.. .. . .+ )
- (. Mahmud Ghazni entrusted. Al-Blrum to erte an account of the Ind;an

' Subcontinent. - g7 % d
(i) Al-Biruni wrote the book named 'Kltab al—Hmd'anrdu TEEe oy
(M) @ only R S AR ) (i) only... . T

| " (3) Both @) and @ .. - (4) Neither. (1), nor (11) _

._ '151.' In Cholasadmmlstratlon settlements ofpeasants areknown 88 i @ _
e (1) Nadus ! ; (2) Valnadus (8. Uz, (). Mandalams _
152 In'the beglnnmg, Kakatiyas: Were holdlng thepests of........c.. e 9,0, ¢

(1) Rattadi - (2) N,ayakas 5 (3 Amaranayakas (4) Jagn*dars :
o8, Maich thefollowtng: -
R ) 9) © Abdul Razzak Py KI‘ISTIII‘—B.*D‘;V’aRaya
i) Paes | Q) - Achyita Baga'™
iii) - Nuniz | 'R) Devaraya-II -
Oi-Pi-Qii-R - . @i-R,ii-QH-~-P-
I ) 1—Q11 P, iii~ R e Ty 1R —Pm Q

. 154. J ahangir's mother was the daughter of t‘he Ra]put,ruler of .......... SR o

P ¢} JodhpuJ. T (2) Chittor . (3) Amber 4y Slsodla -

K S : ) .
£ 40, : Fols

:15_5.‘. Ibadat Khana built. by Akbar wasa. spnsignss g _f_'__' :
,-.A(l) nleetmg house Whele drscussmns u_nth Iearned md1v1duals of d]fferent fa1ths

* wereheld, - "% T .

(D) dmlng hall where the feasts to forelgn Suests were arranged

(3) 11b1 ary where the'large collectlon of ¥eligicus Bools were kept

(4) school where the chlldl en were taught about World peace

KS=-11 ' " a " " . " T :-‘[%7] s : [Turn(iver]_




‘ GEGGRAPHY“' | -

- 156 Tlns belt gets the maximum heat energy from the sun - |

A

(1) The belt extending from the TI'OplC of Carncer to the Trop1c of Caprlcorn o
" (2) The belt exteriding from the Tropic of Cancer to'the Equator only, : .

(3) The belt extending from thé Tropic of Capricorn to the Equator only

(4) . The belt extendmg from the Arctm circle to the Antarctlc clrcle i

157, Andhra Pradesh has no suchforests— i . % T :
(1) Bvergreen forests TR @ 'Demdnous forests
: _' 6] Thorny forests SRR (VR Mangrove forests
© 158, Assertion (A) Temperature decreases as'we go hlgher from the Earth's.
© surface. . .
.. Reason (R) ; The sunrays ﬁrst heat the atmosphele Then the atmosphere _
hests the earth,

" (1) Both (A) and B) are true and (R) is the correct explanatlon of (A)
-(2) Both (A) and (R) are true but (R) is not. the correct explananon of (A)
(3) (A)is true but (R) is false. - ' .
(4) (A) is false but (R) is true.

159, -The angle made by Earth's axis of rotatl_on W1th the plan,e of 1ts orb1t 180ty -
(1) 285 degrees A2 66 5 degrees @) 90 degrees R CRY degrees. i

160. Eastern ghats DO NOT extendm the followmg State — et TR
" (1) Andhra Pradesh (2) Odisha - ) Karnataka (4)1. TamilNadu -

N 161, RwerOderemptlesﬂ;selfln..Z......'li.'.""" TR REEN e T L F ey T
.. (1) Adriaticsea (2 Black sea .. .. -(3) Baltic sea " @) Caspian sea .
‘ 162. The countrles across Whose borders the Pyrenees stretch‘? .
(1) France, Spain _ ' S @ Portugal Spam"
" (3) Brltam, France' e T - 4@ France Germany-

- 163. Whlch of the followmg statements 1s/are CORRECT‘? =

1) The Central Africa receives very low ralnfall ,

i), The Nestern Africa receives Heavy ramfa]l Aty
(1) @ Only - L T (9-G)Oonly

(3) ‘Both (i) and (11) L E ~ {(4) Neither (1), nor (11)

; 164. Whose books were used hy the Arab scholars and. sallors to prepare maps at
.. an early’ stage? K o .
. (1) Anaximander @ Al Idr1s1 - (3) Mercator (4) Ptolemy

165, -Who among ‘the followmg are helleved by Esknnos to help estabhsh and keep
-+ contacts with the spirit world? .
(1) Vlkmgs "y (2) Mukluks B (3) Shamans Sy 10 Sl‘edna

KS- e et . SR T T P L
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POLITICAL SCIENJCE

166. Total number of Constltaenrnes reserved for SCS in Andhra Pradesh State

LeglslatweAssemblyls...'..;;:‘.A._-.j.....'-'-'f - ':'“'f",';,-r:. ;

\'

OB @ L ew @

167, "I shall strlve for a Constltutmn Whlch Wlll re’lease Tridia from all thraldom and

] patronage I shall be sat1sf1ed Wlth nothlng else " The natmnal leader .

Who wrote these words was —, @

(D, Jawaharlal Nehiu e (D Gandhii
@) Ambedkar " . ' . (4) RajendvaPrasad

168,
"+ (1), Lok Sabha only

T E " ‘ o 5{
Parliament consists of - S

@ Rajya Sabha only . i soio
:"._(3) Lok Sabha and Rajya Sabha o

g ___rf{tl) Lok Sabha, Rajya Sabha and The Presulent ‘ N :_' s - .-

169,

Who amt)ng the followmg demanded the Brltlsh Colomal Government in 1911 .

' ;_'j'to make a law for free and compulsory edueatlon for all the chﬂdren of the _

-country? : SE -

L@ BalGangadharTﬂak o R @ Ambedkar LR -
‘.(3) Gopal Krlshna Gekhale . (4) Dadabha1 Na0r0]1 |

" 170.

(D) Six years -

The Cl_lief Electio_n Commis‘siene'rpf Indla 1;'01&5 the_leﬁg"ice for .

. ;(2) Fiveyears ' K L
| Tak e . ) W T-‘-i ;

(3) SlX years or tlll the age of 65 years, wlnchever is earller _

‘s,
J if ,15..

' (4) Flve years or till'the’ age of 60 years, whlchever is earher

-\'l‘:.l.l- R A 7L
f WA F . S
B e TR - A 5 e et e s wten oL

RS-

g 3 . o e~ - . [Tura Over]"




| 1'7,3:;
- (1) Dadabhai NaorOJl e (2) Mot11a1 Nehru

171 Assertlon (A) J anuary 26"]1 is’ celebrated eve'ryr year. ae the Repubhc day of -

'Indla - " e T

)J') Ci"-r

Reason (R) : On January 26th 1950 the Constltutlon Was adopted fmally by -

‘ - the constltuent assembly

(1) Both (A) and ®) are true and (R) is the correct explanatlon of (A)

- 2 Both (A) and (R) are true but (R) is not the correct: explanatlon of (A)
- (® (A)is true but ®R)is false :-'

CA e ey roweifd \;_

@ Q) is false but (R) is- true

172.

The Governor of the State is appomted by

(1) The C'hleannster L
) The Prime Mlnlster

RN

(8) The Pre51dent

' __(4) Members. of the State Legislative.AssenioBly o S I3,

The person who drafted a Constltutlon for Indla 111 1928 -, g

_ (3) Subhash Chandra Bose . - K '(4) Ambedkar. O

- 174,

The term, 'Repubhc mentloned in the Preamble means. that e g

(1) The Government W111 not favour ‘any rehglon

’ '(2) People have the : supreme right to make declslons EA

L (3). Head of the State'i is an elected person,

_(4) People should live 11ke brothers and 51sters 7 : .

la

175..D; |
- (D) Citizens can take help from,the courts 1n case thenc Fundamental nghts- .

Difference between Dlrectlve Prmc1p1es and Fundamental nghts 4 =,

. are Vlolated but there is no such possfblhty regardmg D].rectlve Prlnclples '

=" (2) Citigens can take help from the caurts in case the. Dlrectlve Prmmples are

‘violated but there is no such possﬂalhty regarding Fundamental nghts

- () The Fundamental nghts are mentioned in the Constltutlon but not the

Directive Prmc1p1es

_ (4) The. Dlrectlve Principles -are mentlpned n the Const1tut1on but not the

Fundamental R1ghts

KS-



NMMS @) R i -
ol « T de s ECONOMICS K
. 176 Antyodaya card holders are ent1tled to get ......

(1) 25 kgs of food- grams _ . (2) 30 kgs of food grains
3 35 kgs of food grains (4) 40 kgs of fgod grams

177, How many days of employment can a rural house- hold get ina year under

 MNREGA? fa.
(1) Atleast 200 days L ‘_ . (2) Atleast 150 days
'(3)'Atleast 100'days o o (4) Atleast 50 days g

4

. _17 8. Find out the FALSE statement regardmg the technologlcal changes —
) (1) They create some new jobs. -
(2) They bring. changes n productmn process
(3) They also affect servrce act1v1t1es :

4 They are always Welcomed by all the people

179. Thelargestemployerlnlndlatoday1s..'...-;.7..;.-' o TR )
@D Software companies . o '. (2) Agrmulture sector '

(3) Service‘ sector ) L (4) Industr1es

"180. From h1s granary, the Klng should set apart one half for the people i in the _
countrysrde n tnnes of dlstress and use the other half and he should replace -

old stock for new These words were written by -

(1) Kautllya ‘ (2) Kalhalla (3) Abul Fazel @ 'I‘.odar Mal

& yow

' 'K_S-ll., »o B | o - j[35‘-'l , — ) [Tlirn-_(')ver]
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